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oboobOoobo21000b0b00ob00oob0booo0booo0b0o0oboobUobDooobOoobOoo
good

Q=1332190000
P = 5105100 + 133219
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2P + 1 =2(510510n + 133219) + 1 = 1021020n + 266438 + 1 = 1021020n + 266439

0000010210200 20 2003,5,7,11,13,17000000 10000000

266439 = 3 x 88813 x 1

oooo
2P + 1 = 3(340340n + 88813)

goooo0ooOo300boo0ooU0ooUooU0bDOoUDOoUDOoUbObOUDOOobDbOUDOO
goo

Q=1332230000
P =510510n + 133223

2P + 1 = 2(510510n + 133223) + 1 = 10210201 + 266446 + 1 = 10210201 + 266447
0000010210200 20 2003,5,7,11,13,17000000 1000000

266447 = 266447 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 266447

gboboobooobooboboobboobboobooobooo

Q=1332410000
P =510510n + 133241

2P + 1 = 2(510510n + 133241) 4+ 1 = 10210201 + 266482 + 1 = 10210201 + 266483
0000010210200 20 2003,5,7,11,13,17000000 10000000

266483 = 7 x 38069 x 1

oooo
2P + 1 = 7(145860n + 38069)

gOooooooOgvyoUooOOoO0OOoO0OOo0OO0ODOO0DODO0OO0ODOOO0ODOOUODOODOOUODOOO
goo

Q=1332470000
P =510510n + 133247

2P 4+ 1 =2(510510n + 133247) + 1 = 1021020n + 266494 + 1 = 1021020n + 266495

0000010210200 20 2003,5,7,11,13,17000000 10000000

266495 =5 x 53299 x 1
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2P + 1 = 5(204204n + 53299)

oboobobooosUOb0obUobOUobobo0obU0obDOobOUobObUOobUObDOobDOobObOobOobDOooOoo
goo

Q=1332490000
P =510510n + 133249

2P 4+ 1 = 2(510510n + 133249) + 1 = 10210201 4 266498 + 1 = 1021020n + 266499
0000010210200 20 2003,5,7,11,13,17000000 10000000

266499 = 3 x 3 x 29611 x 1

good
2P + 1 = 3(340340n + 88833)

oooooooob3sooooooboobooooooobooooooooboboooooobbBbOoOo
ooo

Q=1332530000
P = 510510n + 133253

2P + 1 = 2(510510n + 133253) 4+ 1 = 10210201 4 266506 + 1 = 10210201 + 266507
0000010210200 20 2003,5,7,11,13,17000000 1000000
266507 = 31 x 8597 x 1
0000 10210200000000000000
2P + 1 = 510510m + 266507

gboboobogobogbooboobboobbooobuoooboon

Q=1332610000
P = 510510n + 133261

2P 4+ 1 =2(510510n + 133261) + 1 = 10210201 + 266522 + 1 = 10210201 + 266523

0000010210200 20 2003,5,7,11,13,17000000 10000000

266523 =3 x 73 x 1217 x 1

oooo
2P + 1 = 3(340340n + 88841)

gooooooOo3sooooooooobooooo0bOoUobDOooDbOoUobbOObDOoOobboUODoO
goo
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Q=1332670000
P = 510510n + 133267

2P 4+ 1 =2(510510n + 133267) + 1 = 1021020n + 266534 + 1 = 10210201 + 266535

0000010210200 20 2003,5,7,11,13,17000000 10000000

266535 =3 x 3 x5 x 5923 x 1

oooo
2P + 1 = 15(68068n + 17769)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
goog

Q=1332710000
P = 510510n + 133271

2P + 1 =2(510510n + 133271) + 1 = 10210201 + 266542 + 1 = 1021020n + 266543

0000010210200 20 2003,5,7,11,13,17000000 10000000

266543 = 17 x 15679 x 1

oooo
2P +1 = 17(60060n + 15679)

oboobOoobo1iToooboooO00oobOboOooObO0oo0bDO0o0obOoobUobDUoOobDbOobobOoo
good

Q=1332770000
P = 510510n + 133277

2P + 1 =2(510510n + 133277) 4+ 1 = 1021020n + 266554 + 1 = 10210201 + 266555

0000010210200 20 2003,5,7,11,13,17000000 10000000

266555 =5 x 89 x 599 x 1

oooo
2P + 1 = 5(204204n + 53311)

goooooo0ds0U0b0O0bOO0ODbOO0OOU0DOU0UDOUODOUODOUODOODOUODOO
oono

Q=1332790000
P = 510510n + 133279

2P 4+ 1 =2(510510n + 133279) + 1 = 1021020n + 266558 + 1 = 10210201 + 266559
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0000010210200 20 2003,5,7,11,13,17000000 10000000

266559 = 3 x 88853 x 1

oooo
2P + 1 = 3(340340n + 88853)

booboooo3obobobooooobobooooboboboobDobooobUobOobooo
goo

Q=1332830000
P = 510510n + 133283

2P + 1 = 2(510510n + 133283) + 1 = 10210201 + 266566 + 1 = 10210201 + 266567
0000010210200 20 2003,5,7,11,13,17000000 10000000

266567 = 7 x 113 x 337 x 1

oooo
2P + 1 = 7(145860n + 38081)

goooooobogvyooooOoooOoobooOoOOoO0bOo0obDOoOoDOoOobDOUDOOobDbOUODboOO
goo

Q=1332910000
P =510510n + 133291

2P + 1 =2(510510n + 133291) + 1 = 10210201 + 266582 + 1 = 10210201 + 266583
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

266583 = 3 x 88861 x 1

0ooo
2P + 1 = 3(340340n + 88861)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=1333030000
P = 510510n + 133303

2P 4+ 1 =2(510510n + 133303) + 1 = 10210201 + 266606 + 1 = 1021020n 4 266607

0000010210200 20 2003,5,7,11,13,17000000 10000000

266607 = 3 x 3 x 11 x 2693 x 1

oooo
2P + 1 = 33(30940n + 8079)
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goog

Q=1333070000
P = 510510n + 133307

2P 4+ 1 =2(510510n + 133307) + 1 = 1021020n + 266614 + 1 = 1021020n + 266615
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

266615 = 5 x 53323 x 1

oooo
2P + 1 = 5(204204n + 53323)

O00bO00O00sS000000000000DODOO0DODOODODOODODOOODODODOD
goo

Q=1333130000
P =510510n + 133313

2P +1 = 2(510510n + 133313) + 1 = 1021020n + 266626 + 1 = 1021020n + 266627
0000010210200 20 2003,5,7,11,13,17000000 1000000

266627 = 19 x 14033 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 266627

gboobgobogobooboboobboobooobuooooboon

Q=1333190000
P = 510510n + 133319

2P + 1 = 2(510510n + 133319) 4+ 1 = 10210201 + 266638 + 1 = 10210201 + 266639
0000010210200 20 2003,5,7,11,13,17000000 1000000
266639 = 23 x 11593 x 1
0000 10210200000000000000
2P + 1 = 510510m + 266639

gboboobogobooboboobboobbooobuoonooboon

Q=1333210000
P =510510n + 133321

2P 4+ 1 =2(510510n + 133321) 4+ 1 = 1021020n + 266642 + 1 = 10210201 + 266643
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0000010210200 20 2003,5,7,11,13,17000000 10000000

266643 =3 x 3 x 13 x43 x 53 x 1

oooo
2P +1 = 39(26180n + 6837)

obooboooo3ooooooooobobooobooboobooboboooobOoobOoo
good

Q=1333270000
P = 5105100 + 133327

2P + 1 = 2(510510n + 133327) 4+ 1 = 10210201 + 266654 + 1 = 10210201 + 266655
0000010210200 20 2003,5,7,11,13,17000000 10000000

266655 =3 x 5 x 29 x 613 x 1

oooo
2P + 1 = 15(68068n + 17777)

goooooboOobhoobooooobOobooooUooooooDOobDOoOoDOobDOoboooboOooo
good

Q=1333330000
P = 510510n + 133333

2P + 1 =2(510510n + 133333) + 1 = 10210201 + 266666 + 1 = 10210201 + 266667
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

266667 = 3 x 103 x 863 x 1

oooo
2P + 1 = 3(340340n + 88889)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=1333370000
P = 5105100 + 133337

2P 4+ 1 =2(510510n + 133337) + 1 = 1021020n + 266674 + 1 = 1021020n + 266675

0000010210200 20 2003,5,7,11,13,17000000 10000000

266675 = 5 x 5 x 10667 x 1

oooo
2P + 1 = 5(204204n + 53335)
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goo

Q=1333390000
P = 510510n + 133339

2P + 1 = 2(510510n + 133339) 4 1 = 10210201 + 266678 + 1 = 10210201 + 266679
0000010210200 20 2003,5,7,11,13,17000000 10000000

266679 =3 X 3 X3 X Tx17x83 x1

oooo
2P + 1 = 357(2860n + 747)

O00ob00obOooO3ryooooooo0ooooboboooooOoobobOobOoDOoDOobDOoo
good

Q=1333490000
P = 5105100 + 133349

2P 4+ 1 = 2(510510n + 133349) + 1 = 10210201 4 266698 + 1 = 1021020n + 266699
0000010210200 20 2003,5,7,11,13,17000000 1000000

266699 = 167 x 1597 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m 4+ 266699

gbbooggbogoboobbugobboobbooobuoonbagn

Q=1333510000
P = 510510n + 133351

2P 4+ 1 =2(510510n + 133351) + 1 = 1021020n + 266702 + 1 = 10210201 + 266703

0000010210200 20 2003,5,7,11,13,17000000 10000000

266703 = 3 x 19 x 4679 x 1

0ooo
2P + 1 = 3(340340n + 88901)

O00b0o0O0o03000b0000000b00oDbO0ooOoO0bO0obO0oDOOobDOoO0oobOoDbDOoDOn
goo

Q=1333610000
P = 510510n + 133361

2P 4+ 1 =2(510510n + 133361) + 1 = 1021020n + 266722 + 1 = 10210201 + 266723
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0000010210200 20 2003,5,7,11,13,17000000 1000000

266723 = 109 x 2447 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 266723

goboobooobooboboobboobbooboooboon

Q=1333630000
P = 510510n + 133363

2P + 1 = 2(510510n + 133363) + 1 = 10210201 + 266726 + 1 = 10210201 + 266727
0000010210200 20 2003,5,7,11,13,17000000 10000000

266727 =3 x 67 x 1327 x 1

oooOo
2P + 1 = 3(340340n + 88909)

obooboooo3obobobooooobobooooboboboobDobooobUobDOoooo
goo

Q=1333690000
P = 510510n + 133369

2P + 1 = 2(510510n + 133369) 4+ 1 = 10210201 + 266738 + 1 = 10210201 + 266739
0000010210200 20 2003,5,7,11,13,17000000 10000000

266739 =3 x 11 x 59 x 137 x 1

0ooo
2P + 1 = 33(30940n + 8083)

ooooooboOo3ooboooooboboooooooooDoobOooDoDOobDobooooboooo
good

Q=1333730000
P = 510510n + 133373

2P + 1 =2(510510n + 133373) + 1 = 10210201 + 266746 + 1 = 1021020n + 266747

0000010210200 20 2003,5,7,11,13,17000000 10000000

266747 =13 x 17T x 17 x 71 x 1

oooo
2P + 1 = 221(4620n + 1207)
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OO00Oo0d0ooo221000000000000DOO00DOO0DOOO0ObOO00O00ODOOUODOO
goog

Q=1333790000
P = 510510n + 133379

2P + 1 = 2(510510n + 133379) 4+ 1 = 10210201 + 266758 + 1 = 10210201 + 266759
0000010210200 20 2003,5,7,11,13,17000000 1000000

266759 = 266759 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 266759

gbooboobooobooboboobboobboooboooboon

Q=1333810000
P = 510510n + 133381

2P 4+ 1 =2(510510n + 133381) + 1 = 1021020n + 266762 + 1 = 1021020n + 266763

0000010210200 20 2003,5,7,11,13,17000000 10000000

266763 =3 x 7 x 12703 x 1

oooo
2P + 1 = 21(48620n + 12703)

go0odooboOo210000000b0bO0obooU0ooO0oOo0obDObDUo0oDobDOobobOboOooo
goodg

Q=1333870000
P = 510510n + 133387

2P 4+ 1 =2(510510n + 133387) + 1 = 1021020n + 266774 + 1 = 1021020n + 266775

0000010210200 20 2003,5,7,11,13,17000000 10000000

266775 =3 x 5 x 5 x 3557 x 1

oooo
2P + 1 = 15(68068n + 17785)

O0000O0o0oo1booobooobO0oooOoooOoOo0oo0obO0o0obOO0o0obOobDoOooDbOOooODbOoo
good

Q=1333910000
P = 510510n + 133391

2P 4+ 1 =2(510510n + 133391) 4+ 1 = 1021020n + 266782 + 1 = 10210201 + 266783

154



0000010210200 20 2003,5,7,11,13,17000000 10000000

266783 =11 x 79 x 307 x 1

oooo
2P + 1 = 11(92820n + 24253)

o0oobOoobolnoooooobO0oobOboOoo0bOOoo0bO0o0oboobUoboooobOoobOoo
good

Q=1334030000
P = 510510n + 133403

2P + 1 = 2(510510n + 133403) 4+ 1 = 10210201 4 266806 + 1 = 10210201 + 266807
0000010210200 20 2003,5,7,11,13,17000000 1000000

266807 = 37 x 7211 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 266807

gboboobogobooboboobboobbooobuoonooboon

Q=1334090000
P = 5105100 + 133409

2P + 1 = 2(510510n + 133409) 4 1 = 10210201 + 266818 + 1 = 10210201 + 266819
0000010210200 20 2003,5,7,11,13,17000000 10000000

266819 =7 x 47 x 811 x 1

oooo
2P + 1 = T7(145860n + 38117)

ooooooobogovyoooooooOoobooOoooOoboOOoDbOooDOoobbOOoDbOOoDbboOoDboO
goo

Q=1334110000
P =510510n + 133411

2P + 1 =2(510510n + 133411) + 1 = 10210201 + 266822 + 1 = 10210201 + 266823

0000010210200 20 2003,5,7,11,13,17000000 10000000

266823 =3 x 3 x 23 x 1289 x 1

oooo
2P + 1 = 3(340340n + 88941)
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goo

Q=1334170000
P = 5105100 + 133417

2P + 1 = 2(510510n + 133417) 4+ 1 = 10210201 4 266834 + 1 = 10210201 + 266835
0000010210200 20 2003,5,7,11,13,17000000 10000000

266835 = 3 x 5 x 17789 x 1

oooo
2P + 1 = 15(68068n + 17789)

o00o0obO0ooobooobooobOoooOoooObO0ooDOO0o0obO0oOobUobDoooDbOoboDbOoo
good

Q=1334210000
P = 510510n + 133421

2P 4+ 1 = 2(510510n + 133421) 4+ 1 = 10210200 4 266842 + 1 = 1021020n + 266843
0000010210200 20 2003,5,7,11,13,17000000 1000000

266843 = 347 x 769 x 1

Ooooo0 10210200 000000000000

2P 4+ 1 =510510m + 266843

gbbooggbogoboobbugobboobbooobuoonbagn

Q=1334230000
P = 510510n + 133423

2P 4+ 1 =2(510510n + 133423) + 1 = 10210201 + 266846 + 1 = 10210201 + 266847

0000010210200 20 2003,5,7,11,13,17000000 10000000

266847 =3 x 7T x 97 x 131 x 1

oooo
2P + 1 = 21(48620n + 12707)

0000000021 0000000000000O000DODO00DO00ObOObDOoODObOObODbDOn
good

Q=1334290000
P = 5105100 + 133429

2P 4+ 1 =2(510510n + 133429) + 1 = 10210201 + 266858 + 1 = 10210201 + 266859
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0000010210200 20 2003,5,7,11,13,17000000 10000000

266859 = 3 x 3 x 149 x 199 x 1

good
2P + 1 = 3(340340n + 88953)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=1334390000
P = 510510n + 133439

2P + 1 = 2(510510n + 133439) 4+ 1 = 10210201 + 266878 + 1 = 10210201 + 266879
0000010210200 20 2003,5,7,11,13,17000000 1000000

266879 = 31 x 8609 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 266879

gboboobogobooboboobboobbooobuoonooboon

Q=1334470000
P = 5105100 + 133447

2P + 1 = 2(510510n + 133447) 4+ 1 = 10210201 4 266894 + 1 = 10210201 + 266895
0000010210200 20 2003,5,7,11,13,17000000 10000000

266895 =3 x3x3x3xHx659x%x1

oooo
2P + 1 = 15(68068n + 17793)

ooooooboOobooboooooboboooooooooDoobDOooDOobDOoboobOooboo
good

Q=1334510000
P = 510510n + 133451

2P + 1 =2(510510n + 133451) + 1 = 10210201 + 266902 + 1 = 10210201 + 266903

0000010210200 20 2003,5,7,11,13,17000000 10000000

266903 =7 x7x13 x419 x 1

oooo
2P + 1 = 91(11220n + 2933)
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goog

Q=1334530000
P = 510510n + 133453

2P + 1 =2(510510n + 133453) + 1 = 10210201 + 266906 + 1 = 1021020n + 266907

0000010210200 20 2003,5,7,11,13,17000000 10000000

266907 = 3 x 88969 x 1

good
2P + 1 = 3(340340n + 88969)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=133457 0000
P = 510510n + 133457

2P 4+ 1 =2(510510n + 133457) + 1 = 1021020n + 266914 + 1 = 10210201 + 266915

0000010210200 20 2003,5,7,11,13,17000000 10000000

266915 =5 x 11 x 23 x 211 x 1

oooo
2P + 1 = 55(18564n + 4853)

OOooOdDoOooOs0obbo0oboob0oboboo0obooo0oDooboobDOobDobooboOooog
good

Q=1334590000
P = 510510n + 133459

2P + 1 = 2(510510n + 133459) + 1 = 10210201 + 266918 + 1 = 10210201 + 266919
0000010210200 20 2003,5,7,11,13,17000000 10000000

266919 = 3 x 193 x 461 x 1

good
2P + 1 = 3(340340n + 88973)

g0obOobooo3obobooooooboboooobooboboDoboDobooobUobDOoobDOoo
goo

Q=1334770000
P = 5105100 + 133477
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2P + 1 =2(510510n 4 133477) + 1 = 1021020n + 266954 + 1 = 10210201 + 266955

0000010210200 20 2003,5,7,11,13,17000000 10000000

266955 =3 x5 x 13 x37x37x1

oooo
2P + 1 = 195(5236n + 1369)

gOo0ooOoOooosoooooooooo0oobooooogooobo0ooooooDooDoo
goog

Q=1334810000
P = 510510n + 133481

2P + 1 = 2(510510n + 133481) + 1 = 10210201 + 266962 + 1 = 10210201 + 266963
0000010210200 20 2003,5,7,11,13,17000000 1000000

266963 = 239 x 1117 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 266963

gboboobooobooboboobboobboobooobooo

Q=1334870000
P = 510510n + 133487

2P + 1 = 2(510510n + 133487) + 1 = 10210201 + 266974 + 1 = 10210201 + 266975
0000010210200 20 2003,5,7,11,13,17000000 10000000

266975 =5 x5 x 59 x 181 x 1

oooo
2P + 1 = 5(204204n + 53395)

obobobooosUOb0obUobOOobobo0obOobDOobOUobObUOobUObDOobDOobObOOobOobDOoDOoo
goo

Q=133489 0000
P = 510510n + 133489

2P 4+ 1 =2(510510n + 133489) + 1 = 10210201 + 266978 + 1 = 10210201 + 266979

0000010210200 20 2003,5,7,11,13,17000000 10000000

266979 = 3 x 88993 x 1
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2P + 1 = 3(340340n + 88993)

obooboobooo3oboboboooooboboooobobUobooboDoboboobOobooooo
goo

Q=1334930000
P = 510510n + 133493

2P 4+ 1 = 2(510510n + 133493) + 1 = 10210201 + 266986 + 1 = 10210201 + 266987
0000010210200 20 2003,5,7,11,13,17000000 10000000

266987 = 7 x 43 x 887 x 1

ooono
2P + 1 = 7(145860n + 38141)

oooooooovooooooboobooooooobooboooooobooOobObOooooobbOBbOoOn
ooo

Q=1334990000
P = 510510n + 133499

2P + 1 = 2(510510n + 133499) 4 1 = 10210201 + 266998 + 1 = 10210201 + 266999
0000010210200 20 2003,5,7,11,13,17000000 1000000
266999 = 266999 x 1
0000 10210200000000000000
2P + 1 = 510510m + 266999

gboboobogobogbooboobboobbooobuoooboon

Q=1335130000
P = 510510n + 133513

2P + 1 =2(510510n + 133513) + 1 = 10210201 + 267026 + 1 = 1021020n + 267027

0000010210200 20 2003,5,7,11,13,17000000 10000000

267027 = 3 x 89009 x 1

oooo
2P + 1 = 3(340340n + 89009)

gooooooOo3sooooooooobooooo0bOoUobDOooDbOoUobbOObDOoOobboUODoO
goo
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Q=1335170000
P =510510n + 133517

2P 4+ 1 =2(510510n + 133517) + 1 = 1021020n + 267034 + 1 = 10210201 + 267035

0000010210200 20 2003,5,7,11,13,17000000 10000000

267035 =5 x 53407 x 1

oooo
2P + 1 = 5(204204n + 53407)

gboobobooosOobobobooboboobOoboboobobOobUobDOobDobobOoOobOobDOobDOoo
goo

Q=1335190000
P = 510510n + 133519

2P 4+ 1 =2(510510n + 133519) + 1 = 1021020n + 267038 + 1 = 10210201 + 267039

0000010210200 20 2003,5,7,11,13,17000000 10000000

267039 = 3 x 3 x 29671 x 1

oooOo
2P + 1 = 3(340340n + 89013)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=1335310000
P = 510510n + 133531

2P 4+ 1 =2(510510n + 133531) + 1 = 10210201 + 267062 + 1 = 10210201 + 267063

0000010210200 20 2003,5,7,11,13,17000000 10000000
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